EARAROBEEIERT — 2 N— IBISH —F

2012898260 (k) 12mP95128

mU‘fS PEEEME C4 YR —M80AT ‘ (%E] W ‘ (mEsm] — | 4 (B) 12000 B
[AE£] 1% :150,000  ~ 2#&:24,000 ™M  337%&:18,000 M . 43%&:12,000 M 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S # 3 | BREBEKSE 1:16.1 7-5 38.4| — 1 470 | BHRAM (tiEE)
1155 IYN—EX% 54.0 (=) (=) ﬁ%@*ﬁ .
R:F4—TA>N7 b Biwn—7 J—=HrTp—L
S N A+ E K :16. = . - BEHxAl (dvmE
7] 3 FIEEE A IR - i 1246)9 M R ° tg? .
LXTHANAN B IRE LY —F JIXELTy—L
s — e s TBEREH 7. - . — BFFR (tiEE)
3177 X2JTT79140%F # 3 56.0 1;Q 10-10 %6 ! iﬁ EE§ e
77—k BEIIRCMH- FHBSE
= = 2EFY : — — FHBx (ALimE)
il vostns 7 3 | B B | %2 |®8] o | 0| & |nEs doee
LHI5TLIFoh YIS0 T 1 1REE H9R
Sy o — i3 | AMEEE 1:17.2 5-5 39.7| — 2 506 | REFEK (AtiEE)
5 6| IR Z— 56.0 (3/4) (ra) | FEER =
R:F25> 4 BAJLT PR AE T ¢l
S 1 % KIER A7, N 3| - R (dtim)
6l7l g | EOF Itk 4 3 e 1(11/72)3 1-1 40.3 3 (32(2)) it B8
R:HYoINToA— BauroT H2 0 LS
=X . 4 3 | NEET 1:17.3 5-7 39.8| — 10 408 | MNEGFE (dtimdE)
7 4| TNI=T 1= 54.0 7€) © &) 2905 77—1
XD ThANAN B:EYT) e P NN
SL K 4 3 | HLERE 1:17.4 2-2 40.2| — 4 500 | #FNEA (AtiEaE)
glglo /L ELFET 260 ALE, Oy | @ aaLs 2oz
4472 v— BNLRRyXT HET7— L
- S= BHET 7. — . - KIFIES] (At7E:E
9 2| TATILTZ2Y i3 54.0 1(3,1/7‘06 &9 w7 o (4_%3 A IE 1 b
RiFev8y b BAH-—ITINZY F—L— - Tp/N - T —LERE
. i 3 | Al 1:17.7 3-2 40.4| — 8 468 | HEEIEGL (AbimiE)
10/ 8|10l E27H7€X 54.0 (1/2) (+0) | ERIIER
R:B=JXLLyY b BXI—RHREL HET7— L
® 1—F—@EBIERL
13—7-—
2a=5"=
33—F-— 8,9,(1,10), (4,6) ,5,(2,3),7
43—+ — 8,(1,9,10), (5,6) ,4,3,2,7
[ /N
B 5 140 7 3 3-5 810 3EE 3-5-7 9,290
B B 5 1204 B & 825 1,090H 3EE 5-3-7 24,690M
3 240M B HE 5-3 1,130H
7 430M

ABICOVWTRDTEEERROODE. TR LIV,




